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7 v e = 7 1 ppm 2 ppm
A F o A N T E v 0.002 ppm 0.004 ppm
fitt e K 3 0.02 ppm 0.06 ppm
fifi 1t A ¥ % 0.01 ppm 0.05 ppm
= Wi Ak A F 0.009 ppm 0.03 ppm
Kk UoxX F o T I v 0.005 ppm 0.02 ppm
7 v ~ 7 A F B R 0.05 ppm 0.1 ppm
7 a v 4 v 7 ) 5 kb R 0.05 ppm 0.1 ppm
J =)L 7 F LT T e R 0.0009 ppm 0.03 ppm
A4 Y 7 F N 7 LV F B KR 0.02 ppm 0.07 ppm
JV = N L LT LT kR 0.009 ppm 0.02 ppm
A4 Y XN v v 7 5 B R 0.003 ppm 0.006 ppm
4 Y 7 X = )b 0.9 ppm 4 ppm
L3 17 st ¥ JL 3 ppm 7 ppm
A F VA T F N bV 1 ppm 3 ppm
k JL T v 10 ppm 0 ppm
A % Ng 0.4 ppm 0.8 ppm
* v % N 1 ppm 2 ppm
A =4 = 7+ v fize 0.03 ppm 0.07 ppm
J % < L 1% fize 0.001 ppm 0.002 ppm
/ L ~ v & LN i 0.0009 ppm 0.00 2 ppm
A v & H 173 0.001 ppm 0.004 ppm
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